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6. 1/3 part of the mark(s) of each question will be deducted
for cach wrong answer. A wrong answer means an incorrect
answer or more than onc answers lor any question.

7. Each question has five options marked as 1, 2, 3, 4,5 . You
have to darken only one circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL POINT PEN.
If you are not attempting a question then you have to darken
the circle ‘5°. If none of the five circles is darkened,
one third (1/3) part of the marks of question shall be deducted.

* After solving question paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
cach of the questions. Extra time of {0 minutes beyond
scheduled time, is provided for this.

. A candidate who has not darkened any of the five circles
in moere than 10% questions, shall be disqualified.

11.1f there is any sort ol ambiguity/mistake either of printing or
factual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

12. Mobile Phone or any other electronic gadget in the examination
hall is strictly prohibited. A candidate found with any of such
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The Bijli Rhyolite belongs to which
of the following ?

(1) Khairagarh group

(2) Nandgaon group

(3) Sakoli group

(4) Sausar group

(5) Question not attempted

A large outcrop of Nepheline
syenite 1s situated in which of the
following area ?

(1) Pavagarh (2) Kishangarh
(3) Tusham (4) Pallavaram
(5) Question not attempted

Which of the following formation
contains commercially important
coal deposits ?

(1) Barkar formation

(2) Barren formation

(3) Babarmal formation

(4) dJaduguda formation

() Question not attempted

Trace fossils are also known as,

(1) Derived fossils

(2) Ichno fossils

(3) Remanent fossils

(4) Facies fossils

(5) Question not attempted
Which of the following 1s an “index
fossil” of Cambrian age ?

(1) Svringothyris cuspidata
(2) Phacops latiform

(3) Redlichia naetlingi

(4) Rana pusilla

(5) Question not attempted

The study of conditions of burial of
fossils 1s called -

(1) Taphonomy

(2) Taxonomy

(3) Palynology

(4) Palaeoecology

(5) Question not attempted

Deola Marls are considered to be the
part of which stratigraphic unit ?

(1) Zevan formation

(2) Thaku formation

(3) Bagh formation

(4) Sakoli formation

(5) Question not attempted
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Leaf like gills are found in -
(1) Brachiopods

(2) Lamellibranchia

(3) Gastropods

(4) Nautiloidea

(5) Question not attempted

Unio and Trigonia are examples of
(1) Taxodont (2) Isodont

(3) Heterodont (4) Schizodont
(5) Question not attempted

The class of Mollusca in which the
animals do not possess a head is
called —

(1) Acephala

(2) Prosobranchia

(3) Opisthobranchia

(4) Decapoda

(5) Question not attempted
Globular form of Shell is present in —
(1) Trochus (2) Natica

(3) Conus (4) Turritella
(5) Question not attempted

Which is an example of sinistral
form of Gastropod ?

(1) Physa (2) Natica
(3) Murex (4) Turritella
(5) Question not attempted

Which of the following is not a
Gastropod ?

(1) Murex (2) Trochus
(3) Voluta (4) Proetus
(5) Question not attempted

Which of the following is not a
fossil of an extinct cephalopod ?

(1) Belemnites (2) Ammonites
(3) Goniatites (4) Phacops

(5) Question not attempted

Which of the following is not a
Brachiopod ?

(1) Terebratula

(2) Rhynchonella

(3) Lingula

(4) Turritella

(5) Question not attempted
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Which of the following fossil has
long shell with cigar shaped body ?

(1) Turrilites (2) Hoplites
(3) Scaphites (4) Belemnites

Question not attempted

(%)
The tail segment of Trilobita is
known as

(1) Thorax (2) Pygidium
(3) Glabella (4) Cornea

(5) Question not attempted

What is the geological age range of
Trilobita ?

(1) Cambrian to Permian
(2) Ordovician to Permian
(3) Silurian to Permian

(4) Cambrian to Cretaceous

(5) Question not attempted

Which of the following is an
example of intact preserved fossil ?

(1) Wooly Mammoth
(2) Calymene

(3) Agnostus

(4) Olenuss

Question not attempted

6)
What is the most accepted cause
for K-T mass extinction ?

(1) Bolide/Meteorite impact
(2) Flooding

(3) Glaciation

(4) Deglaciation

(5) Question not attempted

Which is the geological age range
of ammonoidea ?

(1) Lower Devonmian to Upper
Cretaceous

(2) Lower Cambrian to Upper
Cretaceous

(3) Lower Permian to Upper
Cretaceous

(4) Lower Carboniferous to

Upper Cretaceous
(5) Question not attempted
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The floating variety of Foraminifera
is described as —

(1) Benthonic (2) Planktonic
(3) Platonic (4) Creeping
(5) Question not attempted

The Belemnites were abundant
during which of the following time
on BEarth ?

(1) Cambrian — Ordovician

(2) dJurassic — Cretaceous

(3) Silurian — Devonian

(4) Permian

(5) Question not attempted

Which of the following belongs to
class Cephalopoda ?

(1) Foraminifera

(2) Coral

(3) Ammonoidea

(4) Trilobita

(5) Question not attempted

The class Trilobita belongs to
which of the following Phyllum ?
(1) Mollusca

(2) Echinodermata

(3) Porifera

(4) Arthropoda

(5) Question not attempted

In Trilobita, the glabella and two
fixed cheeks together form which
part ?

(1) Cranadium

(2) Pygidium

(3) Occipital lobe

(4) Thorax

(5) Question not attempted

The genal spine of a Trilobita 1s
situated at which part of the
animal ?

(1) Cephalon (2) Thorax
(3) Pygidium (4) Telson
(5) Question not attempted

Fusulinids organism survived on
the Earth during which of the
following geological time ?

(1) Cambrian

(2) Permocarboniferous

(3) Neoproterozoic

(4) Mesoproterozoic

(5) Question not attempted
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Which of the following 1s not a type
of cavity filling deposit ?

(1) Stockwork (2) Fissure vein
(3) Saddle reef (4) Gossan

(5) Question not attempted

Which of the following is the
criteria  for  identification  of
Replacement deposit ?

(1) Irregular outline of ores only
(2) Absence of crustifications only
(3) Pitches and flats

(4) Both (1) and (2)

(5) Question not attempted

Which of the following is an
example of mineral deposit formed
by metamorphism ?

(1) Tale deposit

(2) Sulphur deposit

(3) Chromite deposit

(4) Gold deposit

(5) Question not attempted

Which of the following 1is
associated with the Kimberlite ?

(1) Chromite (2) Diamond

(3) Magnetite (4) Tungsten
(5) Question not attempted

Which of the following is used as
refractory mineral ?

(1) Corundum (2) Umber

(3) Fire clay (4) Sulphur
(5) Question not attempted

Which of the following ore mineral
of iron has the highest percentage
of Fe ?

(1) Hematite (2) Limonite

(3) Siderite (4) Magnetite
(5) Question not attempted

Which of the following i1s not a
feature associated with Foraminifer ?
(1) Index fossils
(2) Determine
condition
(3) Used by petroleum micro-
palaeoontogists
(4) Have restricted distribution
(5) Question not attempted

palaeo-ecological
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Which of the following is not a
sulphide ore of copper ?

(1) Cuprite

(2) Chalcopyrite

(38) Covellite

(4) Bornite

(3) Question not attempted
“Diaspore” is an ore of -

(1) Antimony (2) Manganese
(3) Iron (4) Aluminium
(5) Question not attempted

At Zawar (Rajasthan) lead-zinc
ores occur in which rock ?

(1) Quartzites

(2) Mica-Schist

(3) Dolomitic limestone

(4) Basalt

(5) Question not attempted

At Khetri (Rajasthan) the copper
mineralization is found associated
with the rocks of .

(1) Aravalli Supergroup

(2) Delhi Supergroup

(3) Bhilwara Supergroup

(4) Marwar Supergroup

(5) Question not attempted
India’s rank in 2020, of iron ore
production, is

(1) 2nd (2) 4th

(3) 5th (4) 6th

(5) Question not attempted
Chanderiya lead-zinc smelting

complex is located in —

(1) Bhilwara district

(2) Ajmer district

(3) Udaipur district

(4) Chittorgarh district

(5) Question not attempted

Which of the following is not an ore
mineral of manganese ?

(1) Brownite (2) Manganite
(3) Turgite (4) Pyrolusite
(5) Question not attempted
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Which of the following Lignite
mine is not located in Barmer
district ?

(1) Giral mine
(2) Barsinghsar mine
(3) dJalipa mine

(4) Kapurdi mine

(5) Question not attempted
Which of the following deposits are
associated with  compressional
settings ?

(1) Porphyry Cu-Mo deposits

(2) SEDEX deposits

(3) Kimberlite deposits

(4) Supergene deposits

(5) Question not attempted

The chromite deposit associated
with mafic-ultramafic rocks results
from which of the following process ?
(1) Contact metamorphism

(2) Late magmatic injection

(3) Early magmatic segregation
(4) Hydrothermal solution

(5) Question not attempted

Which of the following water type 1s
not associated with hydrothermal
ore-forming process ?

(1) Metamorphic water

(2) Connate water

(3) Meteoric water

(4) Rain water

(5) Question not attempted

The Fuller's Earth deposit of

Barmer district is result of which

of the following ?

(1) Metamorphic process

(2) Hydrothermal solution
process

(3) Sublimation process

(4) Sedimentary process

(5) Question not attempted

Out of the following, which state

has the largest resources of coal in

India ?

(1) Madhya Pradesh

(2) Bihar

(3) dJharkhand

(4) Chhattisgarh

(5) Question not attempted
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Which of the following area has
lignite deposit ?

(1) Gyangarh (2) Giral

(3) Harsani (4) Gadara road
(5) Question not attempted

The Agnigundala belt has which of
the economic mineral deposits ?

(1) Iron — Manganese

(2) Aluminium — Magnesium

(3) Cobalt — Nickel

(4) Copper — Lead

(5) Question not attempted

Which mineral deposit results from
residual weathering process ?

(1) Rock-Phosphate deposit
Bauxite deposit

Mica deposit

Gypsum deposit

Question not attempted

Which economic mineral deposit is
located at Majhgaon region ?

(1) Diamond (2) Calcite
(3) Fluorite (4) Selenite
(6) Question not attempted

The diamondiferous conglomerate
deposit of the Vindhyan super-
group is resulted from which of the
following process ?

(1) Metamorphic process

(2) Fluvial process

(3) Biogenic process

(4) Hydrothermal process

(5) Question not attempted

The heavy mineral deposit at
Kyamkulam-Neendakara coast is
known as ;

(1) Quilon deposits

(2) Annamalai deposits

(3) Panvel deposits

(4) Papaghani deposits

(5) Question not attempted

The major zinc and lead metal
production comes out from which of
the following minerals ?

(1) Smithsonite and Angelesite

(2) Smithsonite and Cerussite

(3) Galena and Sphalarite
(4) Hemimorphite and Cerussite
(5) Question not attempted
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Which of the following is the most
common host rock for ‘gash-veins’ ?
(1) Arenaceous rocks

(2) Granitic rocks

(3) Volcanic tuffs

(4) Carbonate rocks

(5) Question not attempted

Which of the following processes is
associated with formation of placer
deposits ?

(1) Magmatism

(2) Metamorphic recrystallization
(3) Metasomatic replacement

(4) Mineral sorting

(5) Question not attempted

Supergene sulphides

oceurs :

(1) above the water table

(2) a depth independent of water
table

(3) below the water table

(4) both above and below the

(D)

groundwater table

Question not attempted
The water present in the rock right
from the time of their formation is
called —

enrichment

(1) dJuvenile water
(2) Connate water
(3) Rock water

(4) Primary water

Question not attempted

A relatively impermeable formation
that neither contain nor transmit
the water 1s called —

(1) Aquifer (2) Agquiclude
(3) Aquifuge (4) Aquitard
() Question not attempted
“Sand Clay” is an example of —
(1) Aquifer (2) Aquiclude
(3) Agquifuge (4) Aquitard
(5) Question not attempted

Which of the following region is
famous for the uranium mineral
deposit ?

(1) Spit1 Valley (2) Jaduguda
(3) Vellore (4) Panna

(5) Question not attempted
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Out of the following which 1is
having lowest porosity ?

(1) Clay (2) Shale

(3) Silt (4) Peat

(5) Question not attempted

In which type of material the
capillary rise will be high ?

(1) Coarse sand

(2) Fine sand

(3) Fine gravel

(4) Silt

(5) Question not attempted

Value of specific yield does not
depend on —

(1) Grain size

(2) Distribution of pores

(3) Compaction of stratum

(4) Dissolved solids 1n water

(56) Question not attempted

Which of the following will have
minimum specific yield ?

(1) Coarse gravel

(2) Fine sand

(38) Clay

(4) Tuff

(5) Question not attempted

Confined aquifers are also known
as —

(1) Artesian aquifer only

(2) Pressure aquifer only

(3) Idealized aquifer only

(4) Both (1) and (2)

(5) Question not attempted

Ss:ng(a'l'nB)

In the above formula for specific
storage porosity is represented by -
(= (2) @

3) B 4) n

(5) Question not attempted

Which of the following will have
high porosity ?

(1) Well sorted sedimentary
deposit

(2) Poorly sorted sedimentary
deposit

(3) Compact limestone
(4) Fractured igneous rocks
(5) Question not attempted




70.

1.

72.

73.

74.

75.

SR &1 98 THR S 1 o U6 R F |
yftese & & 8
(1) =&k FET
(3) €A FRAT
(5) 3TITNG 9
g 4 9 foudh IoadE Irasda ge9d
saferes gAY 2

(1) d°

2 wH

(3)
(4)
(5)
G Yoe % BT AFEL T
S § Tl gersie 3| (?.‘”i'eﬁqa) % |
T B -

(1) 1000 ¥ 10000 fimm/<f.

(2) 03 1000 famn /.

(3) 10000 & 100000 iz /<f.

(4) 100000 fmm /<. @ 31t

(5) 3R weA

SteT bt STer wuwer e e § @ foew o
O g ?
(1) Tgan

(3) TUrar
(5) eI S
T Seyd fad yoa e § @ g,
HEATAT 2

(1) wdevega  (2) Uieg JSoyd
(3) IMEGTONA (4) e Tad
(5) I T

ST W TEUE H, 9 % Th UM ¥
L T < FEROT 1 F1 3T a1 8 7
(1) 3mqfd 1

(2) UIEITE HRH

(3) freresh-aZ Ik

(4) FAI-HId FRh

(5) AT T

ST I
faw g

@)
4)

TrTEdl
EINESI

(2)
(4)

Ay wanem (e iy (i

12

ok

} T2

73.

74.

75.

Type of spring that formed where
the ground surface intersect the
water table 1s -

(1) Contact Spring

(2) Depression Spring

(3) Artesian Spring

(4) Fracture Spring

(5) Question not attempted

Which of the following will have
the highest hydraulic conductivity ?
(1) Clay

(2) Tuff

(3) Fine Gravel

(4) Fine Sandstone

(5) Question not attempted

As per the classification of saline
ground water, the concentration of
Total Dissolved Solids (TDS) 1in
“Brackish Water” will be -

(1) 1000 — 10000 mg/l.

(2) 0-1000 mg/l.

(3) 10000 — 100000 mg/L

(4) More than 100000 mg/L.

(5) Question not attempted

The capacity of a rock to transmit
water through it is called

(1) Porosity

(2) Permeability

(3) Transmissivity

(4) Conductivity

(5) Question not attempted

An aquifer in which the contained
water is held under pressure, 1is
called

(1) Perched aquifer

(2) Confined aquifer

(3) Unconfined aquifer

(4) Connate aquifer

(5) Question not attempted

In acquifer potential management,
transmission of water from one
location to another 1s called as —

(1) Swupply function

(2) Pipeline function

(3) “Filter-plant” function

(4) Energy-source function

(5) Question not attempted
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The upper surface of water in the
zone of saturation is called as

(1) Surface water table

(2) Water table

(3) Permeable table

(4) Porosity table

(5) Question not attempted

The water present in the zone of
Aeration is known as

(1) Connate water

(2) Vedose water

(3) Ground water

(4) Fossil water

(5) Question not attempted

A saturated but relatively
impermeable rock that does not
yield significant quantity of water
is known as

(1) Aquiclude (2) Aquifuge
(3) Aquitard (4) Aquifer
(5) Question not attempted

Which one of the following rock is
of Aquifuge category ?

(1) Sandstone

(2) Gravel

(3) Massive granite

(4) Conglomerate

(5) Question not attempted

The ratio of the volume of water in
a saturated rock drained by gravity
to its own volume is called

(1) Specific yield

(2) Specific retention

(3) Specific gravity

(4) Specific porosity

(5) Question not attempted

The unit
ground water 1s

(1) m3/day (2) m?/day
(3) m/day (4) mt/day
(5) Question not attempted

The high concentration of Nitrates
in potable water causes, which of
the following disease ?

Diabetes

Low Blood Pressure
Methemoglobinimia

Silicosis

Question not attempted

of transmissivity of

unit.
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Which of the following material
has the highest specific yield ?
(1) Limestone (2) Amphibolite
(3) Granulite (4) Gravel
(5) Question not attempted

What is the name for a descending

and/or ascending type natural
outflow of groundwater ?

(1) Flood (2) Fumarole
(3) Spring (4) Lava flow
(5) Question not attempted
Which of the following 1s
associated with electrical

resistivity method of groundwater
exploration ?

(1) Current electrode

(2) Ranging rod

(3) Geophone

(4) Depth analyzer

(5) Question not attempted

What is the uniaxial compressive
strength range of quartzite (in

kglem?) ?
(1) 200-700 (2) 700-1200
(3) 1500-3000 (4) 3000-4000

(5) Question not attempted

The yield of an aquifer depends

upon which of the following ?

(1) Salinity of sea water

(2) Ultraviolet rays in
atmosphere

(3) Rate of annual recharge

(4) Cloud cover

(5) Question not attempted

According to the Indian Standard

IS 10500, year 2012, what is the

acceptable limit of pH for drinking

water ?
(1) 6.5-8.5 (2) 8.5-10
(3) 4.5-6.5 4 <4.5

(5) Question not attempted

Which of the following material has
the highest hydraulic gradient ?

(1) Clay (2) Slate

(3) Fine gravel (4) Dolomite

(5) Question not attempted
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Maximum force expressed per unit
area which a stone can withstand
is called as

(1) Triaxial compressive strength
(2) Crushing strength

(3) Transverse strength

(4) Density

() Question not attempted

The capacity of a stone to withstand
bending load is known as
(1) Compressive strength

(2) Abrasive strength
(3) Crushing strength
(4) Transverse strength

(5) Question not attempted

Which of the following rock is
having highest bulk density ?

(1) Granite (2) Basalt
(3) Sandstone (4) Limestone
(5) Question not attempted

Which of the following rock is
considered as good building stone ?

(1) Fine grained inequigranular
rock

(2) Fine grained equigranular
rock

(3) Coarse grained inequigranular
rock

(4) Coarse grained equigranular
rock

(5) Question not attempted

The “Brazillian Test” on stones is
used to determine —

(1) Compressive strength
(2) Shear strength

(3) Tensile strength

(4) Both (1) and (2)

(5) Question not attempted

“dJack Test” is used to determine -

(1) Compressive strength of rock

(2) Frost resistance of rock

(3) In-situ deformation character
of rock

(4) None of these

(5) Question not attempted

Which of the following rock has
very low compressive strength ?

(1) Basalt (2) Clayey rock
(3) Marble (4) Gneiss
(5) Question not attempted
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Which dam has curved concrete
wall ?

(1) Buttress dam

(2) Gravity dam

(3) Archdam

(4) Earth dam

(5) Question not attempted

Which of the following rock has the
highest  uniaxial = compressive
strengths ?

(1) Slate (2) Shale

(3) Phyllite (4) Dolerite
() Question not attempted

According to Deere and Miller
classification, the Uniaxial
compressive strength of medium
range is )

(1) 560 to 1120 kg/ecm?

(2) 50 to 100 kg/ecm?

(3) 150 to 200 kg/cm?

(4) 1500 to 3000 kg/cm?

(5) Question not attempted

The capacity of a stone to
withstand bending load is known
as
1
&
(3)

Longitudinal strength
Transverse strengt
Lateral strength

(4) Oblique strength

(5) Question not attempted

The capacity of a stone to absorb
moisture when immersed in water
for 72 hours or till saturation is
known as, which of the following ?
1) Adsorption value

2) Porosity value

3) Absorption value

4) Norton value

(5) Question not attempted

calculations, what

For engineerin _ :
ensity of Basalt is

value of bulk
considered ?
(1) 1.2 gm/em? (2) 2.9 gm/em3
(38) 8.7gm/em? (4) 10.12 gm/cm?
(5) Question not attempted

The portion of a dam that touches
the ground on the downstream side
1s called

(1) Toe of the dam

(2) Heel of the dam

(3) Spillway

(4) Abutment

(5) Question not attempted
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i 106.

104.

105.

i 107.

108.

109.

110.

What is absorption value of granite ?
(1) 0.5t01.2% (2) 1l.4to2.3%
(3) 9to10% (4) 3.5t06.5%
(5) Question not attempted

What 1s unit of “Impact Toughness
Test” ?

(1) kg/em? (2) m/sec

(3) kg/sec (4) kg/m

(5) Question not attempted
Which of the following 1s the best
rock aggregate for road
construction ?

(1) Shale (2) Phyllite

(3) Basalt (4) Mica Schist

(5) Question not attempted

Jack test is used to determine

which of the following ?

(1) For compressive strength of
rocks in the laboratory

(2) For In-situ deformation
characteristics of rocks

(3) For frost resistance of rocks

(4) For durability test of the
rocks in the laboratory

(5) Question not attempted

Which of the following type of dam

is built in areas where the

foundation is not strong enough to

bear the weight of concrete ?

(1) Rock-fill dam

(2) Earth dam

(3) Gravity dam

(4) Arch dam

(5) Question not attempted

Which of the following is not a part

of physical environment ?

(1) Climate

(2) Flora

(3) Landforms

(4) Water bodies

(5) Question not attempted

Which of the following machine is

used for Abrasion resistance

testing of rocks ?

(1) Jolly’s testing machine

(2) Dorry’s testing machine

(3) Hutton’s testing machine

(4) Tesla’s testing machine

(5) Question not attempted
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111.

113.

114.

115.

116.

He

Ozone layer is lying at the height

O —

(1) 5tol0km (2) 16to60km
(3) 70to75km (4) 76 to 100 km
(5) Question not attempted

. Which of the following is not an

ozone depleting substance ?
(1) CFCs

(2) Methyl bromide

(3) Carbon tetrachloride
(4) Carbon dioxide

(5) Question not attempted

The Earth’s climate during the late
Precambrian time was typically —
(1) Hot and dry

(2) Hot and humid

(3) Cold with glaciation

(4) Humid only

(5) Question not attempted

In which year Government of India
constituted the Central Pollution
Control Board (CPCB) ?

(1) 1974 (2) 1947
(3) 1950 (4) 2010
(5) Question not attempted

In which year Air (Prevention and
Control of Pollution) Act was
enacted in India ?

(1) 1981 (2) 2000
(3) 2011 (4) 2022
(5) Question not attempted

As per Central Pollution Control
Board, Government of India, what
is moderate Air Quality Index

(AQI) range ?

(1) 101 to 200 (2) 250 to 300
(3) 350to450 (4) 475 to 600
(5) Question not attempted

The most important greenhouse
gases are
(1) Oy and Ny
(2) NO, and O,
(3) COy and water vapour
(4) NO, and H,
(5) Question not attempted
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118.

119.

120.

121.

122,

123.

124.

concentration of SO,

What 1s

(ug/m3) in 24 hours as per Central
élround Water Board, Government
of India Standards ?

(1) 180 (2) 80

3) 275 (4) 250

(5) Question not attempted

What is permissible concentration
of PM, ; ( g]/m3) in 24 hours as per
Central Iklo lution Control Board,
Government of India Standards ?
(1) 60 (2) 100

(3) 200 (4) 250

(5) Question not attempted

In which year Government of India
amended the Environment
(Protection) Rules 1986 to notify
the “National Ambient Air Quality
/ Standards” ?

(1) 2000 (2) 2009
(3) 2014 (4) 2011
(5) Question not attempted

What is wavelength of ultraviolet
radiation ?
§1§ 0.8 to 1.0 micrometre
2) 0.16 to 0.18 micrometre
3) 0.2 to 0.4 micrometre
(4)
(5)

2.1 to 2.5 micrometre
Question not attempted
Thematic maps which show the
extent and types of hazards are
known as -
(1) Risk Maps
(2) Resource Maps
(3) Geopotential Maps
(4) Hazard Maps
(5) Question not attempted

Discharge of water in floods 1s
measured in :

(1) Cubic metres per second
CUMSEC)

(2) quare metres per second
(SQSEC)

Metres per second (MSEC)

(4) Per seconds only (SEC)

(5) Question not attempted

What is maximum permissible

concentration of PM;, (ug/m3? in 24
hours as per Central Pollution

(3)

Control Board, Government of
India Standards ?
gl 200 (2) 100
3) 250 (4) 300
(5) Question not attempted
[m]
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126.

127.

128.

129.

130.

Which of the following formation
has rich deposits of manganese ?
(1) Bichua formation

(2) Sitasohangi formation

(3) Chorbaoli formation

(4) Mansar formation

(5) Question not attempted

Which of the following is the oldest
formation of Cuddapah Super
group ?

(1) Srisailam Quartzite

(2) Gulcheru Quartzite

(3) Cumbum Shale

(4) Nagri Quartzite

(5) Question not attempted

Which of the following pair

strati-graphically incorrect ?

(1) Bhander — Ganurgarh
Group Shale

(2) Rewa Group - Sirbu Shale

(3) Kaimur — Bijagarh Shale
Group

(4) Semri Group - Suket Shale

(5) Question not attempted

Which of the following formation
does not belong to Kurnool Group ?
(1) Kundair Formation

(2) Paniam Quartzite

(3) Banganpalle Formation

(4) Rohtas Formation

(5) Question not attempted

Which of the following is the oldest
Precambrian succession in NW
Himalaya ?

(1) Haimanta Group

(2) Salkhala Group

(3) Daling Group

(4) Shali Group

(5) Question not attempted

Rocks of “Khondalite Series” are
exposed in which of the following
region ?

Singhbhum region

Central India

Eastern Ghat region

Aravalli region

Question not attempted
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133.

134.

135.

136.

span range of cretaceous period ?
(1) From 161 to 145 Ma

(2) From 145 to 99 Ma

(3) From 145 to 65 Ma

(4) From 199 to 65 Ma

(5) Question not attempted

. Which one is stratigraphically a

wrong pair ?

(1) Neogene — Pliocene

(2) Paleogene — Eocene

(3) Carboniferous — Mississipian
(4) Cretaceous — Bathonian
(5) Question not attempted

Which one of the
represents the age
Mangalwar Complex ?
(1) 3300 — 3000 Ma
2900 — 2600 Ma
2200 — 1800 Ma
1800 — 1700 Ma
Question not attempted

following
range of

Which of the following pair 1is

stratigraphically incorrect ?

(1) Delhi Super — Mesoproterozoic
group

(2) Aravalli
Supergroup

(3) Hindoli
Group

(4) Bhilwara
Group

(5) Question not attempted

— Palaeoproterozoic
— Neoproterozoic

— Neoarchean

Which of the following represents
the initiation age of sedimentation
in Vindhyan Basin ?

(1) 1600 — 1700 Ma

(2) 1100 - 1150 Ma

(3) 1000 - 900 Ma

(4) 1200 -1150 Ma

(5) Question not attempted

Which of the following is considered
as the age of Muth Formation ?

Late Silurian to early Devonian
Permian

Carboniferous

Late Cambrian to Silurian
Question not attempted
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137.

138.

139.

140.

141.

142.

143.

Which of the following formation
does not belong to lower Gondwana
group ?

(1) Karharbari Formation

(2) Barren Measures

(3) Barakar Formation

(4) Tikki Formation

(5) Question not attempted

What is considered as the age of
Lameta Formation ?

(1) Upper Permian

(2) Upper Cretaceous

(3) Paleocene

(4) Lower Cretaceous
(5) Question not attempted

Which of the following pair 1s
stratigraphically incorrect ?

(1) Pachcham — Rehmani beds
(2) Chari — Anceps beds

(3) Katrol — Gajansar beds
(4) Umia — Trigonia beds

(5) Question not attempted

Which group lies unconformably
over the Trichinopoly Group ?

(1) Uttatur Group

(2) Ariyalur Group

(3) Niniyur Group

(4) Terani plant beds

(5) Question not attempted

What 1s the age of Singhbhum

granite ?
(1) 2950 Ma (2) 3850 Ma
(3) 1950 Ma (4) 2050 Ma

(5) Question not attempted

Which of the following stratigraphic
sequence of the upper Gondwana 1s
part of the Satpura basin ?

(1) Kota formation

(2) Kamthi formation

(3) dJabalpur Group

(4) Parsora formation

(5) Question not attempted

Syringothyris limestone wunit in
Kashmir region belongs to which of
the following ?
(1) Upper Devonian
(2) Lower Silurian
(3) Lower Carboniferous
(4) Upper Silurian
(5) Question not attempted
10
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144.

145.

146.

147.

148.

149.

150.

Which of the following rocks is
considered as “Stitching Granite”
marking as suture zone between
two tectonic belts ?

(1) Siwana granite

(2) Clospet granite

(3) Balda granite

(4) Singhbhum granite

(5) Question not attempted

The Kotri — Dongargarh Belt 1s
situated in which of the following
craton ?

Dharwar Craton

Bastar Craton

Shimoga Craton

Aravalli Craton

Question not attempted

The Gangpur group is situated in
which of the following fold belt ?

(1) North Singhbhum fold belt

(2) North Delhi fold belt

(3) Lunavada fold belt

(4) Sylhet fold belt

(5) Question not attempted
Jhamarkotra stromatolitic rock
ghosphate is part of which of the
ollowing ?

Sirohi group

Birmania group

Aravalli super group
Vindhyan super group
Question not attempted

The Ajabgarh group is dominantl;/
composed of which of the following *
(1) Peletic, psammophiletic and
volecanic rocks

Carbonate rocks

Granitoid gneisses

Granulotic rocks

(5) Question not attempted

The Shali Carbonates of north India
are regarded as of which age ?

(1) Upper Proterozoic age

(2) Lower Proterozoic age

(3) Cambrian age

(4) Ordovician age

(5) Question not attempted
Which of the following is Gold
mineralised belt ?

Marrand Schist Belt

Kolar Schist Belt

Gogunda Schist Belt
Bheraghat Schist Belt
Question not attempted
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